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https://www.100test.com/kao_ti2020/644/2021_2022_2009_E5_B9_

B4_E8_8B_B1_c94_644511.htm 2009英语专业八级考试结束了，

参加考试的同学们一定急切想知道自己考得怎么样，百考试

题英语站点从网上搜集整理了这次考试的参考答案供大家参

考！注意：以下答案均来源网络，非官方权威答案，仅供参

考！！！ [1] 人文、翻译题目及参考答案 [2] 作文题目及参考

范文 [3] 改错题目及参考答案 09专八改错题目 Proofreading

&amp. Error Correction: 题目及参考答案仅供参考。 The

previous section has shown how quickly a rhyme passes from one

school child to the next and illustrates the further difference

(1)_____ between shcool lore and nursery lore. In nursery lore a

verse, learnt in early childhood, is not usually passed on again when

the little listener (2)_____ has grown up, and has children of their

own, or even grandchildren. (3)_____ The period between learning

a nursery rhyme and transmitting It may be something from twenty

to seventy years. With the playground (4)_____ lore, therefore, a

rhyme may be excitedly passed on whtin the very hour (5)_____ it is

learnt. and in the general, it passes between children of the (6)_____

same age, or nearly so, since it is uncommon for the difference in age

between playmates to be more than five years. If therefore, a

playground rhyme can be shown to have been currently for a

hundred years, or (7)_____ even just for fifty, it follows that it has

been retransmitting over and over. very possibly it has passed along a

chain of two or three (8)_____ hundred young hearers and tellers,



and the wonder is that it remains live (9)_____ after so much

handling, to let alone that it bears resemblance to the (10)____

original wording. 100Test 下载频道开通，各类考试题目直接下

载。详细请访问 www.100test.com 


